For this week’s spellings...

we are looking at spelling words with the
digraph ‘ar’.

www.twinkl.co.uk




Year 1 Spring Term 2 SPaG Mat

Complete the table:

Nl

Singular (one)

Plural (more than onc)

cat

kiss

car

Unscramble this sentence:

songs? longer sing you me Can

Tick two words that can have
‘er’ added at the end to make new
words.

e

b

Tick the real words and cross the Q
alien words.

D day

Find the hidden words.

s p o | d f o
go P p @ n u n
full u i o e l o

Oops Mr Whoops has made TWO Q
mistakes in his sentence.

Can you change it?

on Sundays i like to help my mum.




Year 1 Spring Term 2 Answers

Complete the table:

N

Singular (onc) | Plural {more than onc)
cat cats

kiss kisses

coar cars

Unscramble this sentence: {

Can you sing me longer songs?

words.
() et
@/thich
() ant
(O coft

Tick two words that can have
‘er' added at the end to make new

b

Tick the real words and cross the Q
alien words.

Dty (ot
gsny doup
ouf

woug

zay

(X) oav

Find the hidden words.

his

P eO———
full
push \
old

Oops Mr Whoops has made TWO Q

mistakes in his sentence.

Can you change it?

On Sundays I like to help my mum.
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Year 1 Spring 2 Maths Activity Mat 2

Section 1 Section 2 Section 3 Section &4
Which day comes first? What number is seven Fill  in the missing Circle half of the
less than 157 number. apples.

®e
[ 2 20, 18, 16, D , 12 © :..
Wednesday, Thursday D . ' ..

Section 5 Section 6 Section 7 Section 8
Tick the coins that would 16 is five less than... Which is heavier?
make 17p.

11 +6 =

4 x 10 =

-0 | 9® @

w**

|




Year 1 Spring 2 Maths Activity Mat 2 Answers

Section 1 Section 2 Section 3 Section &
Which day comes first? What number is seven Fill in the missing Circle half of the
less than 157 number. apples.

6 apples circled.
‘ Mnnduu TI-IEEdﬂI_.,, 20, 18, 16, , 12
Wednesday, Thursday

Section 5 Section 6 Section 7 Section 8
Tick the coins that would 16 is five less than. .. Which is heavier?
11+6=| 17 make 17p.

10p, 5p and 2p ticked.
4x 10 = | 40 or

10p, 5p and 2 x 1p ticked.
L]

w * % - @

13-6 =

I




